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IR F 4% (present active infinitive)
4 F i (perfect active infinitive)
B F £ (future active infinitive)

TR 4t (present passive infinitive)
i (perfect passive infinitive)
B (future passive infinitive)
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IR F A (present active imperative)
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IR F B (present active indicative)

# F B (imperfect active indicative)

B F E (future active indicative)

£ F B (perfect active indicative)
JuF H (pluperfect active indicative)
AF H (future perfect active indicative)

IHHEE (present passive indicative)
H#E (imperfect passive indicative)
% E. (future passive indicative)
W5 E (perfect passive indicative)
Ju#i B (pluperfect passive indicative)
AHZE (future perfect passive indicative)
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IR F 1% (present active subjunctive)
‘H F 1% (imperfect active subjunctive)
£ F 15 (perfect active subjunctive)
JtF 1% (pluperfect active subjunctive)

IH#%1E (present passive subjunctive)
H IS (imperfect passive subjunctive)
£ #71E (perfect passive subjunctive)
Je#lE (pluperfect passive subjunctive)
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IR 3 5758 (present active participle)
#5750 (perfect passive participle)
18t 3 5755 (future active participle)
#5355 (future passive participle)
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JEf&E)4 (genitive gerund)
HAf& B4 (dative gerund)

E & E)# (accusative gerund)
Ef&H)4 (ablative gerund)
EENEUE=E

E & HEh44 (accusative supine)
E & HEh+4 (ablative supine)
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/4 (genus)
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PO0=4%

# (numerus)

1% (casus)
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[5 {8 (masculine singular vocative / plural)

[% & F| (masculine singular nominative / plural)

[ {58 (masculine singular genitive / plural)

= [l [+ |2

[5 {5 Ed (masculine singular dative / plural)
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F5 1525 (masculine singular accusative / plural)
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F5 {5 %2 (masculine singular ablative / plural)

AFT
[2EE T
[ B8 J&| /2 15 /& (feminine singular genitive / plural)

/&8 (feminine singular vocative / plural)
/
/
i A B /[ #5 E5] (feminine singular dative / plural)
/
/

2 | (feminine singular nominative / plural)

2N ==

ZEHEH
X

252 (feminine singular accusative / plural)
25 % (feminine singular ablative / plural)

B I
i B F|/|4 # | (neuter singular nominative / plural)

/& (neuter singular vocative / plural)
/
th1 BE 8| /\-h 4§ )8 (neuter singular genitive / plural)
/
/
/

i BE B /\ch #F A (neuter singular dative / plural)
th BS | /|d #8&| (neuter singular accusative / plural)

th BE ) /| #5%| (neuter singular ablative / plural)

‘lﬂ[l'
=
‘lﬂ[l'
N
3
‘lﬂ[l'
3
‘lﬂ[l'
=
=
®



